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©UìÊ ◊ÊäÿÁ◊∑§ ¬⁄UËˇÊÊ, 2010

SENIOR SECONDARY EXAMINATION, 2010

flÒ∑§ÁÀ¬∑§ flª¸ IV — ∑Î§Á· ( OPTIONAL GROUP IV — AGRICULTURE )

‚Sÿ ÁflôÊÊŸ
( AGRONOMY )

‚◊ÿ — 3 
1
4  ÉÊá≈U

¬ÍáÊÊZ∑§ — 48

¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —
GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –
Candidate must write first his / her Roll No. on the question paper

compulsorily.

2. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª˝¡Ë M§¬ÊãÃ⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÙœÊ÷Ê‚ „UÙŸ ¬⁄U
Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ù ‚„UË ◊ÊŸ¥ –
If there is any error / difference / contradiction in Hindi & English

versions of the question paper, the question of Hindi version should

be treated valid.

3. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U – ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 19  fl 20  ◊¥ •Ê¢ÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –
All  the questions are compulsory. There are internal choices in

Question Nos. 19 and 20.

4. ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ –
Write the answer to each question in the given answer-book only.

5. Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ‚◊ÊŸ •¢∑§ flÊ‹ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ ‚ÊÕ ‚ÃÃ˜
Á‹π¥ –
For questions having more than one part carrying similar marks, the

answers of those parts are to be written together in continuity.
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6. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 1 ∑§ øÊ⁄U ÷Êª ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬˝àÿ∑§ ÷Êª ∑§ ©UûÊ⁄U ∑§ øÊ⁄U Áfl∑§À¬
( •, ’, ‚ ∞fl¢ Œ ) „Ò¥U – ‚„UË Áfl∑§À¬ ∑§Ê ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê
’ŸÊ∑§⁄U Á‹π¥ —
There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
four alternatives A, B, C and D . Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

¬˝‡Ÿ ∑˝§◊Ê¢∑§
Question No.

‚„Ë ©UûÊ⁄U ∑§Ê ∑˝§◊ÊˇÊ⁄U
Correct letter of

the Answer

1.       (i)

1.       (ii)

1.       (iii)

1.       (iv)

1. (i) Á∑§‚ ¬˝¡ÊÁÃ ∑§ ∑§øÈ•Ê¥ ∑§Ê fl◊Ë¸-∑§ê¬ÊS≈U ’ŸÊŸ ◊¥ •Áœ∑§ ©U¬ÿÊª Á∑§ÿÊ ¡ÊÃÊ „ÒU ?

(•) ßã«UÊÁ¡∑§ (’) «UÊÿÊÁ¡∑§

(‚) ∞Á¬Á¡∑§ (Œ) ßã«UÊÁ¡∑§ ∞fl¢ «UÊÿÊÁ¡∑§ ŒÊŸÊ¥ –

Which species of earthworms is used mostly to prepare vermi-

compost ?

(A) Endogeic (B) Diogeic

(C) Epigeic (D) both Endogeic and Diogeic.
1
2 

(ii) ¡’ »§‚‹ ∑§Ë •ãÿ ¡ÊÁÃ ∑§Ê ¬ÊÒœÊ Á’Ÿ ’Êÿ πÃ ◊¥ ©Uª ¡ÊÃÊ „ÒU, fl„U ∑§„U‹ÊÃÊ „ÒU
(•) ÁŸ⁄U¬ˇÊ π⁄U¬ÃflÊ⁄U (’) Ÿ∑§‹øË π⁄U¬ÃflÊ⁄U
(‚) ‚Ê¬ˇÊ π⁄U¬ÃflÊ⁄U (Œ) •flÊ¢Á¿UÃ ( ⁄UÊÇÿ ) π⁄U¬ÃflÊ⁄U – 
When other variety of plant of the crops is grown up in the field

without sowing, it is called

(A) Absolute weed (B) Mimicry weed

(C) Relative weed (D) Rogue weed. 1
2 
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(iii) Á∑§ÃŸ Á∑§‹Êª˝Ê◊ «UÊß•◊ÊÁŸÿ◊ »§ÊS»§≈U ( «UË0 ∞0 ¬Ë0 ) ©Ufl¸⁄U∑§ ‚ 46 Á∑§‹Êª˝Ê◊
»§ÊS»§Ê⁄U‚ Ãàfl ¬˝ÊåÃ „UÊÃÊ „ÒU ?

(•) 50 Á∑§ª˝Ê (’) 100 Á∑§ª˝Ê

(‚) 150 Á∑§ª˝Ê (Œ) 200 Á∑§ª˝Ê – 

How many kilograms of diammonium phosphate (  D.A.P. )

fertilizer can be used to produce 46 kilogram phosphorus ?

(A) 50 kg (B) 100 kg

(C) 150 kg (D) 200 kg. 1
2 

(iv) ª„Í°U ∑§Ë »§‚‹ ∑§ Á‹∞ Á∑§ÃŸË ’Ë¡ ◊ÊòÊÊ ¬˝ÁÃ „ÒUÄ≈U⁄U øÊÁ„U∞ ?

(•) 100 Á∑§ª˝Ê (’) 80 Á∑§ª˝Ê

(‚) 60 Á∑§ª˝Ê (Œ) 40 Á∑§ª˝Ê  –

How much amount of seed is required per hectare for wheat

crop ?

(A) 100 kg (B) 80 kg

(C) 60 kg (D) 40 kg. 1
2 

2. SÕÍ‹ ∑§Ê’¸ÁŸ∑§ πÊŒ ( ¡ËflÊ¢‡Ê πÊŒ ) ∑§Ê ∑§Êß¸ ∞∑§ ©UŒÊ„U⁄UáÊ Á‹Áπ∞ –

Give any one example of bulky organic manure. 1
2 

3. ªÊ¡⁄U ÉÊÊ‚ ∑§Ê Ÿc≈U ∑§⁄UŸ ∑§ Á‹∞ ∞∑§ Á◊òÊ ∑§Ë≈U ∑§Ê ŸÊ◊ Á‹Áπ∞ –

Write the name of ecofriendly insect to destroy Gajar grass. 1
2 

4. ◊ÕË ∑§Ê ∑§Êß¸ ∞∑§ •ÊÒ·œËÿ ◊„Uàfl Á‹Áπ∞ –

Write any one medicinal use of Fenugreek ( Methi ). 1
2 

5. •‹‚Ë ∑§Ê ∑§Êß¸ ∞∑§ ©U¬ÿÊª Á‹Áπ∞ –

Write any one use of Linseed ( Alsi ). 1
2 
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6. •Ê‹Í ∑§Ë »§‚‹ ◊¥ Á◊^ÔUË ø…∏UÊŸ ∑§Ê ©U¬ÿÈQ§ ‚◊ÿ Á‹Áπ∞ –
Write the appropriate time of mounting soil over potato crop. 1

7. ‚ÊÿÊ’ËŸ ∑§Ë ∞∑§ ©UÛÊÃ Á∑§S◊ ÃÕÊ ’Ë¡ ◊ÊòÊÊ ¬˝ÁÃ „ÒUÄ≈U⁄U Á‹Áπ∞ –
Write an improved variety and seed rate of Soybean per hectare.

1
2  + 12  = 1

8. •ê‹Ëÿ ◊ÎŒÊ ∑§Ë ¬Á⁄U÷Ê·Ê Á‹Áπ∞ – •ê‹Ëÿ ◊ÎŒÊ ∑§ ¬˝∑§Ê⁄UÊ¥ ∑§Ê Á‹Áπ∞ –
Define acidic soil. Write the types of acidic soil. 1 + 1 = 2

9. »§⁄UÊ◊ÊŸ ≈˛U¬ ∑§ ©U¬ÿÊª ∑§⁄UŸ ∑§Ë ÁflÁœ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ – 
Describe the method of using pheromone trap. 2

10. ’Ë¡ ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ – ’Ë¡ ∑§Ë •¢∑È§⁄UáÊ ¬˝ÁÃ‡ÊÃ ôÊÊÃ ∑§⁄UŸ ∑§Ê ‚ÍòÊ ÷Ë ŒËÁ¡∞ –
Define seed. Give the formula to know the percentage of seed

germination. 1 + 1 = 2

11. ◊ÎŒÊ ©Ufl¸⁄UÃÊ ∑§Ë ¬Á⁄U÷Ê·Ê ŒËÁ¡∞ – ◊ÎŒÊ ©Ufl¸⁄UÃÊ ∞fl¢ ◊ÎŒÊ ©Uà¬ÊŒ∑§ÃÊ ◊¥ øÊ⁄U •ãÃ⁄U S¬c≈U
∑§ËÁ¡∞ –
Define soil fertility. Clarify four differences between soil fertility and
soil productivity. 1 + 12  + 12  + 12  + 12  = 3

12. ◊≈U⁄U ∑§ ’Ë¡ ∑§Ê ⁄UÊß¡ÊÁ’ÿ◊ ∑§Ë Á∑§‚ ¬˝¡ÊÁÃ ∑§ ∑§Àø⁄U ‚ ©U¬øÊÁ⁄UÃ ∑§⁄UÃ „Ò¥U ? ß‚ ∑§Àø⁄U
‚ ’Ë¡ ©U¬øÊÁ⁄UÃ ∑§⁄UŸ ∑§Ë ÁflÁœ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞  –
By which culture of the species of Rhizobium is the seed of pea

treated ? Describe the method of seed treatment with this culture.

1 + 2 = 3

13. Ÿ«U¬ ∑§ê¬ÊS≈U ’ŸÊŸ ◊¥ ¬˝ÿÈÄÃ ‚Ê◊ª˝Ë ∑§Ê Áflfl⁄UáÊ ŒËÁ¡∞ – ß‚ ÁflÁœ ∑§Ê Áfl∑§Ê‚ Á∑§‚Ÿ
Á∑§ÿÊ ? 
Give the details of the material which is used to prepare Nadep

compost. Who developed this method ? 2 + 1 = 3

14. »§‚‹Ê¥ ∑§Ë ¡‹ ◊Ê¢ª ∑§Ê ¬˝÷ÊÁflÃ ∑§⁄UŸ flÊ‹ Á∑§ã„UË¥ ŒÊ ∑§Ê⁄U∑§Ê¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –
Describe any two factors affecting the water requirement of the crops.

1 
1
2  + 1 

1
2  = 3
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15. fl⁄UáÊÊà◊∑§ ‡ÊÊ∑§ŸÊ‡ÊË fl •fl⁄UáÊÊà◊∑§ ‡ÊÊ∑§ŸÊ‡ÊË ◊¥ •ãÃ⁄U S¬c≈U ∑§ËÁ¡∞ – ¬˝àÿ∑§ ∑§Ê
∞∑§-∞∑§ ©UŒÊ„U⁄UáÊ Á‹Áπ∞ –

Differentiate between selective herbicide and non-selective herbicide.
Give one example for each. 1 + 1 + 

1
2  + 12  = 3

16. ◊Í¢ª»§‹Ë ∑§Ë ŒÊ ©UÛÊÃ Á∑§S◊¥, πÊŒ fl ©Ufl¸⁄U∑§, ’Ë¡ Œ⁄U fl ©U¬¡ ¬˝ÁÃ „ÒUÄ≈U⁄U Á‹Áπ∞ –

Write two improved varieties, manure and fertilizers, seed rate and
yield per hectare for groundnut. 1 + 1 + 

1
2  + 12  = 3

17. ÁŸêŸ »§‚‹Ù¥ ∑§Ë ’Ë¡ ◊ÊòÊÊ ¬˝ÁÃ „ÒUÄ≈U⁄U Á‹Áπ∞ —
(i) øÊfl‹ (ii) ‚⁄U‚Ê¥
(iii) •⁄U„U⁄U (iv) ’⁄U‚Ë◊
(v) ‚ÊÒ¥»§ (vi) ÖflÊ⁄U –
Write the seed rate per hectare for the following crops : 6 × 

1
2  = 3

(i) Rice (ii) Mustard

(iii) Pigeon pea (iv) Berseem

(v) Fennel (vi) Sorghum.

18. ‡ÊÈc∑§ πÃË ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ – ‡ÊÈc∑§ πÃË ∑§ Ÿ◊Ë ‚¢⁄UˇÊáÊ Á‚hÊãÃ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –
‡ÊÈc∑§ πÃË ∑§ Á‹∞ ©U¬ÿÈQ§ ‚⁄U‚Ê¥ ∑§Ë ŒÊ ©UÛÊÃ Á∑§S◊¥ Á‹Áπ∞ –
Define dry farming. Explain the principle of moisture conservation of

dry farming. Write two improved varieties of mustard suitable for dry

farming. 1 + 3 + 1 = 5

19. ’Ê¡⁄UÊ ∑§Ë ©UÛÊÃ πÃË ∑§Ê fláÊ¸Ÿ ÁŸêŸ Á’ãŒÈ•Ê¥ ∑§ •ÊœÊ⁄U ¬⁄U ∑§ËÁ¡∞ —
(i) ŒÊ ©UÛÊÃ Á∑§S◊¥
(ii) ’ÈflÊß¸ ∑§Ê ‚◊ÿ fl ’Ë¡Œ⁄U ¬˝ÁÃ „ÒUÄ≈U⁄U
(iii) πÊŒ fl ©Ufl¸⁄U∑§
(iv) „UÁ⁄UÃ ’Ê‹ ( ¡ÊÁªÿÊ ) ⁄UÊª ∑§Ê ÁŸÿãòÊáÊ
(v) ∑§≈UÊß¸ fl ¬ÒŒÊflÊ⁄U ¬˝ÁÃ „ÒUÄ≈U⁄U –

•ÕflÊ
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øŸ ∑§Ë ©UÛÊÃ πÃË ∑§Ê fláÊ¸Ÿ ÁŸêŸ Á’ãŒÈ•Ê¥ ∑§ •ÊœÊ⁄U ¬⁄U ∑§ËÁ¡∞ —

(i) ŒÊ ©UÛÊÃ Á∑§S◊¥

(ii) ’ÈflÊß¸ ∑§Ê ‚◊ÿ fl ’Ë¡Œ⁄U ¬˝ÁÃ „ÒUÄ≈U⁄U

(iii) ©Ufl¸⁄U∑§

(iv) ©Uπ≈UÊ ⁄UÊª ∑§Ê ÁŸÿãòÊáÊ

(v) ∑§≈UÊß¸ ∞fl¢ ©U¬¡U ¬˝ÁÃ „ÒUÄ≈U⁄U –
Describe the improved cultivation of Bajra ( Pearl millet ) under the

following heads :

(i) Two improved varieties

(ii) Time of sowing and seed rate per hectare

(iii) Manure and fertilizers

(iv) Control of green ear disease

￼￼￼￼ (v) Harvesting and yield per hectare.

OR

Describe the improved cultivation of Gram ( Chick pea ) under the

following heads :

(i) Two improved varieties

(ii) Time of sowing and seed rate per hectare

(iii) Fertilizers

(iv) Control of wilt disease

(v) Harvesting and yield per hectare. 1 + 1 + 1 + 1 + 1 = 5

20. ªÛÊÊ ∑§Ë ©UÛÊÃ πÃË ∑§Ê fláÊ¸Ÿ ÁŸêŸ Á’ãŒÈ•Ê¥ ∑§ •ÊœÊ⁄U ¬⁄U ∑§ËÁ¡∞ —
(i) ŒÊ ©UÛÊÃ Á∑§S◊¥
(ii) ’ÈflÊß¸ ∑§Ê ‚◊ÿ fl ’Ë¡ Œ⁄U ¬˝ÁÃ „ÒUÄ≈U⁄U
(iii) πÊŒ-©Ufl¸⁄U∑§
(iv) ‹Ê‹ ‚«∏UŸ ⁄UÊª ∑§Ê ÁŸÿãòÊáÊ
(v) ©U¬¡ ¬˝ÁÃ „ÒUÄ≈U⁄U –

•ÕflÊ
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ÁÃ‹ ∑§Ë ©UÛÊÃ πÃË ∑§Ê fláÊ¸Ÿ ÁŸêŸ Á’ãŒÈ•Ê¥ ∑§ •ÊœÊ⁄U ¬⁄U ∑§ËÁ¡∞ —

(i) ŒÊ ©UÛÊÃ Á∑§S◊¥

(ii) ’ÈflÊß¸ ∑§Ê ‚◊ÿ fl ’Ë¡Œ⁄U ¬˝ÁÃ „ÒUÄ≈U⁄U

(iii) ©Ufl¸⁄U∑§

(iv) ¬ûÊË Áfl·ÊáÊÈ ⁄UÊª ∑§Ê ÁŸÿãòÊáÊ

(v) ©U¬¡ ¬˝ÁÃ „ÒUÄ≈U⁄U –

Describe the improved cultivation of Sugarcane on the basis of

following heads :

(i) Two improved varieties

(ii) Time of sowing and seed rate per hectare

(iii) Manure and fertilizers

(iv) Control of red-rot disease

(v) Yield per hectare.

OR

Describe the improved cultivation of Til ( Sesame ) on the basis of

following heads :

(i) Two improved varieties

(ii) Time of sowing and seed rate per hectare

(iii) Fertilizers

(iv) Control of leaf virus disease

(v) Yield per hectare. 1 + 1 + 1 + 1 + 1 = 5

                  


